Mensa Test: Are You a Genius?





1. Can you understand the following Latin poem?


    O sibili si emgo.


    Fortibuses i naro.


    O nobili demis trux.


    Vatis inem?  Caus an dux.





2. In a strange town, there are only 2 barbers.  Looking into the barber shops, you see that one barber is messy and disorganized, and has a terrible haircut.  The other barber is neat and tidy, and has a beautiful haircut.  �Which one do you pick to cut your hair?





3. How far can a dog run into the woods?





4. You have black socks and brown socks mixed in a drawer in the ratio of 5 to 2.  Without looking at the socks, how many socks will you have to take out to make sure of having at least one pair of the same color?





5. What word, when you add additional letters, becomes smaller?





6. What is the next letter in the following series?


   O T T F F S S





7. If a jet has a value of 1, and a plane has a value of 2, what is the value of a Concorde?





8. If Sally's daughter is my son's mother, what relationship am I to Sally if I am male?





9. Divide 100 by 1/2, and add 10.  What do you have?





10. A man is running home, and he is afraid, because a man with a mask is waiting for him there.  �What is happening?





11. What number is next in the following series?


    0  1  1  2  3  5  8  13





12. Next week I am going to have lunch with my friend, visit the new art gallery, go to the Social Security office, and have my teeth checked at the dentist's.  My friend cannot meet me on Wednesday, the Social Security office is closed weekends, the art gallery is closed Tuesday, Thursday, and weekends, and the dentist has office hours only on Tuesday, Friday, and Saturday.  �What day can I do everything I have planned?





13. Punctuate each of these sentences so they make sense:


   time flies i cant theyre too fast


   that that is is that that is not is not is not that so


   jim where bill had had had had had had had had had was correct





14. A man lives in the 27th floor of a building.  Every morning, he walks to the elevator, pushes the button marked 1, rides to the 1st floor, and leaves for work.  Every evening, he walks to the elevator, pushes the button marked 22, rides to the 22nd floor, gets out, and walks up the remaining 5 flights to his apartment.  Why?





15. What is the next number in the following series:


   -2  4  -12  48  -240





16. A man finishes painting his house and needs something more.  At the hardware store, the clerk shows him what he wants and says "one is $1." �"Fine," says the man, "I took 600, so here's $3."  �What did he buy?





17. If a teenager and a half can eat a pizza and a half in a day and a half, how many pizzas can a dozen teenagers eat in 3 days?





18. Marvin and Clara are found dead of suffocation.  In their midst are: some broken glass, a puddle of water, and a hissing cat with arched back.  �When the murder investigator appears, he instantly declares that "this death was not a homicide."  �How did he know?





19. A fly is flying between two boys on bicycles who are pedaling toward each other at 10 miles per hour.  Every 10 minutes, the boys both instantly decrease their speed by 1 mile per hour.  The fly reaches one boy, reverses immediately, and flies back to the other boy instantly, repeating the process each time.  The fly is flying at 60 miles per hour.  The boys meet in 30 minutes.  �How far has the fly flown in that time?





20. A 40-foot length of rope hangs between two buildings attached at the same height at both ends; this forms a shape called a catenary.  If the vertical distance from the points of suspension to the lowest point of the rope is 20 feet, how far apart are the buildings?





21. A woman is found dead in the desert.  There are holes in her clothing, but no holes in the woman.  �How did she die?





22. You are racing your car on a 120 mile track.  The first half of the distance, you go 30 miles per hour.  �How fast must you go for the rest of the race to average 60 miles per hour for the entire race?





23. What is tall as a house, and round as a cup, and all the King's horses can't fill it up?





24. "If you present a purple pass, then you may enter."  If the previous statement is true, which of the following must also be true?


   I.   If you do not present a purple pass, then you may not enter.


   II.  If you may enter, then you presented a purple pass.


   III. If you may not enter, then you did not present a purple pass.





25. Put the appropriate plus or minus signs between these numbers so that the sum will total 1.  Can you make it total 2?  How about 3?





   0  1  2  3  4  5  6  7  8  9  =  1





26. A horse salesman went to a horse auction with a certain number of horses.  To his first customer, he sold half his horses, plus half a horse.  To his second, he again sold half of what he had left, plus half a horse.  To the last, he again sold half of what he had left, plus half a horse.  Each of his customers received only live, whole horses, and he had no horses left.  �How many horses did he start out with?





27. A boy and his father are in a car accident.  The father is taken to one hospital, and the boy is taken to another.  The boy is rushed into surgery where the doctor exclaims "I can't operate on him, he's my son!" 


How is this possible?





28. President of the Company to the Board of Directors: "We are being threatened by a union organizing drive.  The workers are trying to wrest control from us.  We must take any steps necessary to prevent this takeover, even if some of these measures may not be fully legal."


If the statements above are true, which one of these follow?


A. Successful opposition to a union organizing drive must require illegal measures.


B. The union organizing drive is being conducted illegally.


C. The board of directors will refuse to recognize the union even if it wins a representation 


election.


D. Maintaining control of the company is more important than obeying the law.


E. Successful unionization of any company deprives the company officers of control over the company.





29. A freezing hiker finds his way to a recently abandoned cabin.  There he finds a kerosene lamp, a propane stove, a fireplace with wood, and a wax candle.  The hiker has only one match left.  �What should he light first?





30. A man hires a taxi to meet him at the railroad station at 3:00 p.m. to take him to an appointment.  He catches an earlier train and arrives at 2:00 p.m.  He decides to start walking, and is picked up en route by the taxi.  The taxi would have reached the airport at 3:00, and would have delivered him to his appointment right on time.  He arrives twenty minutes early for his appointment.  �How long did he walk?


�
Mensa Test: Answers





1: Oh, see Billy, see him go.


   Forty buses in a row.


   Oh no, Billy, them is trucks.


   What is in them?  Cows and ducks.


2: The sloppy barber.  He must have given the neat barber his beautiful haircut.


3: Half way.  Then he is running out.


4: 3.  With three, at least two must match.


5: Small.


6: E.  (One, Two, Three, etc.)


7: 3.  Count the vowels.


8: Son-in-law.  The daughter is your wife.


9: 210.  When you divide a number by 1/2, you double it.


10: It is a baseball game.


11: 21.  This is called the Fibonacci series.  Each term is the sum of the previous 2 terms.


12: Friday.  Just cross out the days that can't be used.


13: "Time flies."  "I can't, they're too fast."  [Time = verb, flies = noun]


   That that is, is.  That that is not, is not.  Is not that so?


   Jim, where Bill had had "had," had had "had had."  "Had had" was correct.


14: He is too short to reach the button.


15: 1440.  The numbers are multiplied by -2, -3, -4, etc.


16: His house number.


17: 24.  1.5 teenagers eating 1.5 pizzas is like 1 teenager eating 1 pizza, but if it takes 1.5 days, that's 2/3 pizza per teenager per day.  2/3 * 12 * 3 = 24


18: Marvin and Clara are goldfish.


19: 30 miles.  He flew at 60 mph for 30 minutes.  Ignore all other data.


20: 0.  The buildings are together.


21: She is on the moon.


22: Impossible.  To average 60 miles per hour, you must finish the race in 2 hours, but you have already used up 2 hours going 30 mph for 60 miles.


23: A well.


24: III only  


25: Many solutions exist, one is 0+1+2+3-4-5-6-7+8+9=1.  The total of all numbers is 45, so construct 23 with positive numbers (1+9+2+8+3), and make the rest (totaling 22) negative.  


To total 3, construct 24 - 21; make 24 with 1+9+2+8+4, yielding 0+1+2-3+4-5-6-7+8+9=3. 


Since the numbers total 45, switching the sign of any number to negative reduces the total by twice the number.  Therefore, the result will always be odd, so it is impossible to construct a 2.


26: 7.  The 1st man gets 3.5 + .5 = 4 horses; the 2nd gets half of the three that are left, 1.5, plus .5, making 2.  That leaves one, so the last man gets .5 + .5 = 1 horse.


27: The doctor is the boy's mother.


28: D only.  The president states that any measures required to defeat the takeover are justified, whether legal or not.  He does not say that illegal measures will be required (A) or allege anything about the union (B).   E is an unsupported generalization, and the president's statements indicate what he feels, not what the Board of Directors will actually do (C).


29: The match.


30: He walked 50 minutes.  The taxi saved 10 minutes going and 10 minutes coming back, so it must have picked him up at 2
